
MEEG 2013  Quiz #5 
 
 

A four-bar linkage is shown, where crank AB rotates with 
ABω = 10 rad/s 4 and ABα = 12 rad/s2 4. Determine DEω  

and DEα of link DE in this position. 
 
 

 
 

--------------------------------------------------------------------------------------------------------------------- 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

(a) BDω = 5 rad/s 3, DEω = 2.5 rad/s 4 5 
 
 
 

(b) Assume that BD BDα=α 3  and   DE DEα=α 4. 
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         ∴  BDα = 23.2 rad/s2 3, DEα = 30.6 rad/s2 3 5 


